

RESOLUCION POR EL MÉTODO DE HARDY CROSS

Longitud = l= 3.2 0.00005625	Longitud = l= 3.2 0.00005625	Longitud = l= 3.2 0.00005625
1	0.5	1
-0.042787896	0.042787896	-0.042787896
0.042787896	0.021393948	
-0.005348487	-0.010696974	-0.005348487
0.005348487	0.002674243	0.002674243
-0.001002841	-0.002005683	-0.001002841
0.001002841	0.000501421	0.011532675
-0.00156694	-0.003133879	-0.00156694
0.00156694	0.00078347	0.002225054
-0.000473999	-0.000947998	-0.000473999
0.000473999	0.000237	0.000515131
-0.000123641	-0.000247283	-0.000123641
0.000123641	6.18207E-05	0.000126212
-3.12317E-05	-6.24634E-05	-3.12317E-05
3.12317E-05	1.56158E-05	3.13923E-05
-7.828E-06	-1.5656E-05	-7.828E-06
	0	7.83805E-06
		0
-7.828E-06	0.051345477	-0.051341558
		0.051345474
		-0.051347434
		0